Determine the convergence or divergence of the series.

. i (_ 1)n+1

n=1 n

Converges

n+l

. 32
=1
Converges

z (=D (n+1)

= In(n+1)

Diverges

cos(nr)

n=l1

S | =

Converges

g 3 )

‘= n+2

Converges

AP Calculus BC

Infinite Series
Alternating Series

0 n+1

Z

Diverges

. Z( 1)n+1\/_

o n® +1

Converge

L0 i(—l)"+1 In(n+1)

n+l

Converges

o1 [@n-Dr
14. zn [—2 }

n=1

Converges

l)rﬁ—l \/;

Diverges

Name

( 1)n+1
z T In(n+1)

Converges

n+l

i_

n=1

Converges

11. i sin [—(2’1 ; l)ﬁ}

n=1

Diverges

15. i(_l)n

n=0 n'

Converges

1n+1 2
z( )

o n* +1

Diverges

g Z( 1)n+l 2

o n’+5

Diverges

12. z cos(nr)
n=1

Diverges

16. i (1)

= (2n+1)!

Converges



Approximate the sum of the series by using the first 6 terms. Determine the accuracy of the approximation.
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How many terms are needed to approximate the sum of the convergent series with an error less than .001.

n=6; 7 terms

Determine whether the series converges conditionally, converges absolutely, or diverges.
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Find the values of p for which this series converges
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n=4; 5 terms
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